


THOUGHT OF THE DAY

If you can see the
positive sides of everything,
you’ll be able to live a much

richer life than others.
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WORD OF THE DAY

Slugfest

(Noun) : 3T?.1T‘3I'I'3jr : A heated dispute.
Synonyms: Grapple , Brawl
Antonyms: Harmony , Peace

Example Sentence: The battle between the
two Democrats is turning into a nasty little

slugfest.
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MEMORY BASED QUESTIONS

Q1. Five kilometres beyond (a)/ that tree was
seen thousands (b)/ of cattle including (c)/
some goats. (d)/ No Error (e).

Ans.(b)
Sol. ‘were’ would be used instead of ‘was’ in
the part (B) because the subject of the verb

phrase ‘was seen’ is ‘Five kilometres’ which

is a plural noun. So, there is an error in the

part (B) and option (b) is the correct answer.




Q2. The first year (a)/of the child’s (b) /life is
characterized (c¢) /in rapid (d)/ physical
srowth (e)

Ans.(d)
Sol. Option (d) has an error. ‘by’ will be

used instead of ‘in’ because In passive
voice by+ Agent is used.
(i) Ram beat Sita.[Active]

(i) Sita was beaten by Ram.[Passive]



Q3. A ray of light passing through (a)/ the
centre (b) /of a thin lens Kkeep(c)/ its original

direction (d)/No error (e).

Ans.(¢)

Sol. There is error in part (c¢) of the

sentence. ‘keeps’ will be used instead of
‘keep’ because the subject of sentence is

‘A ray ° and this is singular



Q4. The teacher was (a)/ happy when (b)
/he entered the (c¢) /class which comprises
(d)/of a hundred students.(e)

Ans.(d)
Sol. Instead of comprises, ‘comprised’
should be used.




Q5. When I shall get back (a)/ I shall pay
of the money (b)/ that I borrowed (c)/from

you last month (d)/No error

Ans.(a)
Sol. ‘When I shall get back’ will not be used
, instead ‘when I get back’ will be used.
Hence there is error in part (a) of the

sentence.



MEMORY BASED QUESTIONS

Q6. The old Samiksha who is sitting in that
room (a)/ lived here for less than (b)/ a year

but she has never created (c¢)/ any problem.
(d)/ No Error. (e)

Ans.(b)
Sol. Instead of ‘lived’, ‘has lived’ or ‘has

been living” would be used
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MEMORY BASED QUESTIONS

Q7. When Suresh will find out (A)/ any answer
to this question (B)/ he will become able (C)/ to
finalize the project (D)/ No Error. (E)

Ans.(a)

Sol. Instead of ‘Suresh will find’ in the part (a),
‘Suresh finds’ would be used because when in
future, two events are mentioned, then simple
present tense is used in the conditional clause or
subordinate clause (the ones which start with when,

if, before, after, until etc.), and the future tense is

nsed in the nrincinal clanse



Q8. The secret of Sara’s good (a)/ health
lies in the fact that (b)/ she is getting up
before sunrise (¢)/ and has a two-mile walk

every morning. (d)/ No Error. (e)

Ans.(c¢)

Sol. A present tense is used to convey ‘present
habit’. So, instead of ‘she is getting up’ in the
part (C), ‘she gets up’ would be used. Hence,
there is an error in the part (C) of the sentence

and option (c) is the correct answer.
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9. A woman with a few lakh viewers on TikTok app has
chosen to parted ways with her husband after he

objected to her posting videos.

A) Partying ways

B) Partied waves 9. ‘To’, if followed by a verb to
C) Part ways demonstrate a  secondary
D) Parted way action, is always followed by

E) No correction required  the infinitive form of verb, iLe.
“To + Verb (Ist form)”.
Therefore, the correct answer
is Option C.
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10. Faced with the difficult task of pleasing both disqualified
MLAs and BJP loyalists, CM Yediyurappa eventually
decided to side under the turncoats whose ‘sacrifice’

brought his government into existence.

A) Side after the turncoats 10. The sentence depicts that
Yediyurappa took side of the
party/entity which sacrificed to

make his government come into

B) Side into the turncoats
C) Side altogether to turncoats
D) Side with the turncoats existence. The phrase *“to side

E) No correction required with” means the same. Therefore,
the correct answer is Option D.
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~ MEMORY BASED QUESTIONS

11. The Indian patron is famous for been thrifty

and considers it her fundamental right to free

delivery above a certain order amount.

A) To been thrifty

B) To is thrifty 11. The sentence shows a fact of
C) For be thrifty present for India to be thrifty.
D) For being thrifty “For being” in option D

E) No correction required °VeYs the same. Therefore,

the correct answer is Option D



il MEMORY BASED QUESTIONS |

12. The increasing weakness of the Indian democracy lies

in the perpetually emaciating opposition that keeping
scoring self goals.

A) That kept scoring

B) that keeps scoring 12.“Increasing weakness” shows
C) that kept scored continuity of something. And to
D) that is keeping scoring show the same state for

E) No correction required opposition, we need to put that in
a continuous form for a long
time. This brings the use of
Simple present tense. The correct

answer is Option B which shows

the same.
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13. Recently, the Income tax department chose to
withdrawn an appeal against actor Rajnikanth

citing information of tax evasion.
A) To withdrew
B) For withdraw
C) to withdraw
D) withdrew

E) No correction required

13. The correct answer is
Option C




The Rajya Sabha select committee that examined
the bill argued into restricting the surrogate

mother to a “close relative potentially affects the
availability of surrogate mothers.

A) argued that restricting

B) argue restriction

C) arguing that restricted

D) argued that restricted

E) No correction required




If you are spending, say, Rs.1 lakh per
month and is (a)/ due to retire in five
years, you may be wondering as to
whether (b)/ you would be able to
generate the same level (c¢)/ of income
during your retirement to sustain your
lifestyle. (d)/ No error. (e)







